

12155 3V H/16 ()

ROUTING FORM FOR TASK ORDERS – CITY MANAGER'S APPROVAL

Project/Contract Number: 11926 – Task Or		7	CMO Lo	og #:
Document Title:	Roofing City-wide Fort Lauderdale Beach Restroom building		ach Attache	ed: 3 original
Department:	Public Works - Engine	ering	Contact	•
Corresponding CAM #:	16-0006 0	md 15-160	7Contact	#: 954-828-5389
Commission Date:	•			
Dunnana Ta manida a atand	!:	ala samant na sé a	fabo ovietina meti	ng standing soom
Purpose: To provide a stand galvanized metal roofing. The	•		-	
garreringe metal recting.				
•		<u> </u>		
•	FUNDIN	NG INFORMATIO	N	
	Y [N		
CIP Funded Project: Amount Required by Task O	Yes 🗹 Order: \$63,873.29	No 🗌		
Index/Sub Object Code:	331-P12155.	331-6599 <i>Care</i>	tingent upo	a paragraph and 1/5/10
Engineering Finance Approv		<u>_</u>	CAM 15-160	بدامه والمال المست
zBccBacc./.bbo.	12/15	115	CIFFIC 13-140	see attached
				KH 1/6/16
	. APPROVAL RO	DUTING -PUBLIC	WORKS	, , , , , , , , , , , , , , , , , , ,
•		Approved:	Disapproved:	Signature /Initials
Alex Rio, Project Manager				Classification !
Irina Tokar, Senior Project Manager		X		May 1
Alan M. Dodd,	·			1 m 11/1
	Assistant Public Works Director			MINON
Paul Berg, Acting Public Works Directo	ır	\square		Paula Prig
	APPROVAL ROUTI	NG -FINANCE D	EPARTMENT	
		Recommend	Disapproved:	Signature/Initials
		Approval:	Disapproved.	Signature/Hutiais
Kirk W. Buffington, C.P.M., I	Finance Director			Africa
	APPROVAL ROUTIN	IG – CITY ATTOR	NEY'S OFFICE	
•		Approved as to form:	Disapproved:	Signature/Initials
City Attorney			PhA	
	APPROVAL ROUTIN	IG – CITY MANA	GER'S OFFICE	Y W
		Approved:	Disapproved:	Signature/Initials
Lee R. Feldman, ICMA-CM, (City Manager	Approved:	Disapproved:	Signature/Initials



ROUTING FORM FOR TASK ORDERS - CITY MANAGER'S APPROVAL

ADVANCED ROOFING, INC	CONTRACT NUMBER:	243-11292
1950 NW 22 STREET	CONTRACT DESC:	ANNUAL ROOF REPAIRS
FORT LAUDERDALE, FL 33311		REPLACEMENT CITY-WIDE
Phone: (954) 522-6868		CONTRACT - P11926
Fax: (954) 566-2967	CC AWARD:	2/18/14,PUR-2,CAM#14-0176
	UNIT COST:	\$1,943,189.50 CONTRACT CAP
City of Fort Lauderdale	CITY CONTACT:	ALEX RIO
100 North Andrews Avenue	PHONE:	(954)828-5389
Fort Lauderdale, FL 33301	FAX:	(954)828-5070
Annual Roofing Repair and Replacement City-Wide	FUNDING SOURCE:	P12155.331-6599
Fort Lauderdale Beach Restroom Building Re-Roof		
1100 Seabreeze Boulevard, Fort Lauderdale, FL, 33316	TASK ORDER DATE:	11/15/2015
	1950 NW 22 STREET FORT LAUDERDALE, FL 33311 Phone: (954) 522-6868 Fax: (954) 566-2967 City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, FL 33301 Annual Roofing Repair and Replacement City-Wide Fort Lauderdale Beach Restroom Building Re-Roof	1950 NW 22 STREET FORT LAUDERDALE, FL 33311 Phone: (954) 522-6868 Fax: (954) 566-2967 CC AWARD: UNIT COST: City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, FL 33301 Annual Roofing Repair and Replacement City-Wide Fort Lauderdale Beach Restroom Building Re-Roof CONTRACT DESC: CC AWARD: UNIT COST: CITY CONTACT: PHONE: FAX: FAX:

SUMMARY OF WORK:

This building has an existing sloped hip roof with galvanized standing seam metal roofing. It is deteriorating and rusting due to the harsh wind and salt air conditions of the beach environment. We are looking to replace the roof with a new similar looking roof of aluminum manufacture with siliconized polyester coating finish.

BILLING RATES INCLUDED IN CONTRACT							
ITEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE		
				<u> </u>	T		
1b	Allowance for Permits .Contractor markup and overhead is disallowed. Payment shall be based on actual bonafide receipts.	1	AL	\$1,500.00	\$1,500.00		
2B	Furnish all materials, labor, and equipment for existing roof tear-off, including existing insulation board, down to substrate. This item also includes all disposal costs. Medium Roof Repair/Replacement Areas: 501 S.F 10,000 S.F.	2,655	SF	\$1.00	\$2,655.00		
30 A a	Furnish all materials, labor, and equipment for the replacement of deteriorated wood substrates: 5/8" CDX Plywood. Small Roof Repair/Replacement Areas: 0 S.F 500 S.F.	500	SF	\$3.00	\$1,500.00		
31 B b	Furnish all materials, labor, and equipment to install the underlayment materials. 30 # felts, saturated, organic: Medium to Large Roof Repair Area: 501 S.F. and UP	2,655	SF	\$2.00	\$5,310.00		
11 D a	Furnish all materials, labor, and equipment to install continuous 4 inches metal drip edge. Aluminum: Small Roof Repair Area: 0 S.F 500 S.F.	424	SF	\$5.00	\$2,120.00		
12 a	Furnish all materials, labor, and equipment to install wall counter flashing 24 gauge stainless steel, surface mounted with springlock reglet and 24 gauge stainless steel flashing, 6 inches vertical: Small Roof Repair Area: 0 S.F 500 S.F.	52	LF	\$20.00	\$1,040.00		
19	Furnish all materials, labor, and equipment to install rubber boot flashings for vertical round penetrations. Typically vent stacks, 4 6 diameter, 8 inches high, complete with stainless steel clamps.	3	EA	\$75.00	\$225.00		
39 A b	Furnish all materials, labor, and equipment to install aluminum sheet, coll coated alloy, .040 inch with siliconized polyester coating: Medium to Large Roof Repair Area: 501 S.F. and UP	2,655	SF	\$17.00	\$45,135.00		
10 a	Furnish all materials, labor, and equipment to install wall sheet metal flashing, 24 gauge stainless steel, 8 inches wide: Small Roof Repair Area: 0 S.F 500 S.F.	52	EA	\$10.00	\$520.00		
43	Supplies not listed or included elsewhere may be purchased under this contract on a strictly COST-PLUS arrangement only. Documentation of vendor must be provided with written (City) estimates. Provide percent mark-up. City staff estimates approximately \$30,000 worth of this type of material will be required per year. Fire Barrier, Cost + 25%	9	EA	\$149.81	\$1,348.29		
26 B	Time costs for emergency work only as authorized by the City of Fort Lauderdale. Labor time for installing Fire barrier item number 43.	36	EA	\$70.00	\$2,520.00		

Total Bid Price Included in Contract: \$63,873.29

ADVANCED ROOFING, INC

mint Name:

ornahren

i iiik ivaiiio.

Authorized Signature

Date:

CITY SIGNATURES:	
Clief For	12/16/15
Alex Rio Date:	/
Project Manager	12/16/15
Irina Tokar, R.A., LEED Date:	
Senior Project Manager	
anpl	12/17/15
Alan Dodd, Ph.D., P.E. Date: Assistant Public Works Director	
Paull Berg	12-17-15
Paul Berg, Acting Public Works Director	- 10/17/15
Kirk W. Burlington, C.P.M. Director of Finance	/ /
2. Mudely Hos	1.26.16
City Attromey / V V Date:	
A	
CITY OF FORT LAUDERI ALE A Florda municipality:	باه مار
By: LEE R. FELDMAN, City Manager	Date: